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Optimal public expenditure maximizes U ( Clg ) , g)
Assumption :

g ↳ N / ccglig)
is well behaved : admits a unique extremity

& the litre mum is an interior maximum .

[ strictly concave function w/ interior extremism]
⇒ Foch is

necessary
& sufficient to find

.

the solution of planner 's problem
take Fool : d
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1.
Samuelson rule : MR Sgc = I ⇔ 0¥ = J¥g( neoclassical )



mx [ 1- 1- v4 )) ) : m ✗ [ 1- Beveridge dope] :

care d. in term that appears in a model

w/ inefficient slack
, w/ productive inefficiencies

↳ stabilization term → appears b/c

economy is not stabilized at efficient
unemployment a #


